
  

  
�

  ������	
��
� ��� �  ��  ��  �  

  ������ 
�������   ��  ��  

  �������  

 

� ���
  	�!"#�$:&��'  ()�*+
       � ,-./ �$ �� 0�1� 	
� ����#'2 ,�34 ($�5 &���6��7 & 
2  . ,�
�9.� (,�� ����2
$�2 ����5 �-: ;��4
2 
�� <��. 

**$���# �*�� ;
-# =��>? <��   

 � ���  ���	
 �� 
� ��� �����
�
 ��� �� ���	 �� ���� ���
��  !"� ���� �
� #$��� ��� %�&' �� ����� &
 �!&�(. 

 *��–,����      -–�. 
%�       /–%���        ����0  

 

1 �&��� �� ���2(� %�(�3 ,���� ��
*45 
� KVL &
 6�0�� 

 *����"���&  �� �" �78( �� 9�:�� ��(��� %�0,���� ��	 �;�.  

 -– �<�� �" �� �=. >?. �%�&' '�@�",���� @�" �A�0 B�?� @ �;� ��	 ����� �8C� �" .  

 /–�=. >?. �%�&' '� �<�� �" �� @�. 
�4(�@�" �A�0 B�?� @�;� ��	 ����� �8C� �" .  

 �–�=. >?. �%�&' '� �<�� �" �� @�. 
�4(�@�" �A�0 B�?� @�;� ��	 ����� D�E �" .  

  

F –GE B��� 
6�;� �;�� �!  

 *��–�& '�@ %��� 
�. >=!& �
 �� %�
 9��H& �&��8& �
�. >=!& �
�;� %�.  

 -–'��& ,���� >=!& @ �� 
 9��H& �&��8& �
�;� ,���� >=!& �.  

 /–�; ,���� >=!& @ �� 
 9��H& �&��8& �
�;� ,���� >=!& �.  

 �– ,���� >=!& �;@ �� 
 9��H& %'�A �
�;� ,���� >=!& �.  

I –; �� '� 9��H& �&��8&  �A � B6�;� B��� J"� #$� ��   

  
 *��– 1K       -– �K     /– �L         �– L  
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M –����� ���& �� 
�
' N�0 
�. �
 �" O& %� )i2 � i1 ( 6�!&���  

  
 *��– i1=3A � i2=1A             -– i1=-1A � i2=3A               /– i1=5A � i2=2A               �i1=1A � i2=-1A  

R – �&��8& %��� �N=3 9��; N�0 �� F?"� 
6�;� ��8S   

 *��– 4W     -– 12W       /– 6W      �– 10W  

T –' N�0 �� 
6�!&��� �" D�E ,���� �  

  
 *��– v1=2V � v2=-1V         -– v1=4V � v2=-1V  

 /– v1=-1V � v2=2V         �– v1=2V � v2=4V  

L –�"��&���U ����� N�0 ���& �� @ ����( 9��H&  )IN � RN (  �;�� '�A � B6�!&���   

  
 *��– IN=ISC=1mA � ΩRN=Rth=10     -– IN=ISC=4mA � ΩRN=Rth=20  

 /– IN=ISC=5mA � ΩRN=Rth=20       �– IN=ISC=2mA � ΩRN=Rth=10  
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V –,�(� @AW �& �� D�0 D��X�!Y& %���$
 �� �;� ����� *C; :  

 *��– (1/2)Li
2
(t)     -– (1/2)CV

2     /–2Li(t)     �– CV
2  

  

�K –' N�0 ���& �� 
6�;� ��8S 9��H& *C; ���8& � )   �; �� '�A �  B(  

 
 

 *��– 4H       -– 6H    /– 2H       �– 8H  

  

�� –�A ���8& N=3 N�0 ���& �� 6�;� ��8S 9��H& %'  

 *��– 2µF       -– 1µF       /– 5µF     �– 3µF  

  

�1 –; �� ���& �� �U J� [)*C; (�G�
�. �4. �E� �D�0 \
�� %�@ 
; ��U J�� �� � ���� ��� �78( �; '� [
�2@ �; '� 

 �&]^ ���0 /��A ��� �78(M �����& 
�. �4. �E� � �0�� 
�� %�@ 
; ��U J���� ��� �78( �; '� [� �� � �
�2@ �; '� 

�
 �&]^ ���0 /��A �78( M �����& 
�0�� .  

 *��–�=_& � �=_&      -–�!& � �=_& 
     /–�!& 
�=_& �      �–�!& 
�!& � 
  

  

�F –' ���& N� `(�����(� 
6�;� B��� �  

  

 *��– 10H     -– 13H   

 /– 12H     �– 16H  
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v =     /– 
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2
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i −
=     �–/ � *��  

�M –' N�0 >��!& 9��H& >=!& 
& ��8S �
6��0   

  

  

  

  

  

  

  

  

 *��–8A      -–5A      /– 12A     �– 11A   

  

�R –' 9��; N�0 �� 
 �&��8& %��� �F?"� 
6�;� ��8S   

  
 *��– 6W     -– 9W       /– 27W         �– 3W  

  

�T –' N�0 �� 
�. >=!& �E� �
 %�is(t) = 3 Cos 2t�. ��0�� 
 %�io(t)6�;� B���   

  

 *��– (4/6)Cos 2t       -– (9/5)Cos 2t        /– (5/6)Cos 2t     �–Cos 2t  
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�L –' N�0 ���& �� 
�. �
 �&��8& ,���� � %�F?"� 
6�;� B���   

  
 *��– vx=4Sint (V) � i3=(4/3)Sint (A)       -– vx=2 (V) � i3=0 (A)  

 /– vx=6Sint (V) � i3=(6/3)Sint (A)       �– vx=0 (V) � i3=0 (A)  

  

�V –�. b�c N�0 ���& �� 
��=^ %�@�� �;� ����� ,���� >=!& '�   

 *��– 2 Sint     -– 4 Sint     /– Sint       �– 3 Sint  

  

1K –' N�0 ���& �� 
C� N	� '� N=3 �� %�&' �� �t=0���� %'�A @��� ,���� � �100V& 
�0��  .C� N	� '� `U� ,���� ��

�. � %'�A
 %�i(t)��� �� @ t≥0� �����.  

  
 *��– VC (t)=100e

(-100t) � i(t) =-0.02e
(-100t)       -– VC (t)=100e

(-200t) � i(t) =-0.02e
(-200t)  

 /– VC (t)=50e
(-100t) � i(t) =-0.5e

(-100t)         �– VC (t)=50e
(-100t) � i(t) =-0.5e

(-200t)  

  

1� –' N�0 ���& �� 
& d�c �
C� �� ��0 ����& �(e�X f�& �� 
 %�&' �� � D��� ��$� t=0C� �& '�� �
��0  .� ��
 ���� �

���@ t≥0�. ���8& 
 %�iL(t)� �� �����.  

  

 *���  4e
(-2t)     -–  4e

(-4t)     

 /–  2e
(-2t)     �–  2e

(-4t)  
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11 – N�0 ���& ��  �
' �E�VC(0)=6V ,���� D�2(� ��0�� VC(t)��� �� @ t≥0� �����.  

  
 *��– 10e

(-0.6t)       -– -6e
(-(10/21)t)     /– 10e

(-(10/21)t)       �–6e
(-(6/10)t)  

1F –N�0 ���& �� N��8&  ,���� >=!& �E� V(t)=3u(t)   %���. D�2(� ��0�� iL(t)� �� �����.  

  
 *��– 7(1-e

(-7t)
)      -– (5/20)(1-e

(-4t)
)     /– (3/20) (1-e

(-4t)
)     �– e

(-7t)  

  

1I –N�0 ���& �� �
'  �E� VS(t)=2V � VC(0)=1V ,���� D�2(� ��0�� VC(t)��� �� @ t≥0� �����.  

  
 *��– 2- e

(-2t)     -– e
(-2t)         /– e

(-4t)       �– 3- e
(-4t)  
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1M – ���& �� �E�@& ���

Hg � *)'
& ���� (� b�����&��� �����' a���� '� �
6�;� ���3�� �  

 *��– 2ω2
 = α     -– 2ω2

 < α     /– 2ω2
 > α       �–2

 = 0  α  

  

1R – N�0 ���& ��  �h' �E�R=6Ω � L=1H � C=1/5 F��0 � �0�� 
��� a� �iL(0)=1A�. i�5& � 
 %�&' �� �=$( %�

 D�2(� ��0�� ��	iL(t)� �� �����.  

  
 

 *��–                                                -–    

  

 /–                                              �–  

  

1T – �E� N�0 ���& �� VC(0)=6V � iL(0)=2A ,���� D�2(� ��0�� VC(t)��� �� @ t≥0� �����.  

  
 *��– e

(-t)
(-4Cos2t + 3Sin 2t)+10       -– e

(-t)
(3Sin 2t)+10  

 /– e
(-t)

(Cos2t + Sin 2t)         �– e
(-6t)

(-4Cos2t + 3Sin 2t)+10  
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1L – �; �� '� 9��H& *C; � �
' N�0 �� a � b 6 �;� ��8S   

  

  

  

  

  

  

 *��–   0.555H     -–  0.111H 
     /–2.555H         �– 2.111H  

 

1V – �E� N�0 ���& �� V2=1-e
(-2t)

  V ���8& D�2(� ��0�� V1 ���@ 0≥t6�;� B���  

  
 *��– 3+e

(-2t)     -– 3     /– 1+e
(-2t)     �– 4  

FK – N�0 ��  �; �� '� 9��H& %'�A ��
'a � b��8S 6�;�   

  

  

  

  

  

  

 *��–O.7878F        -–   O.3333F         /– 2.7878F     �– 2.3333F  
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F�
"� GH����  

  

� �' N�0 ���& �� 
�. �
�" %�@ 1i � 2i� ���& O& �� �� �� ����� .)M/�D�?( (  

  
  

1 –' N�0 ���& �� 
& d�c �
C� �� ��0 ��& �(e�X f�& �� ��
 %�&' �� � D��� ��$� t=0C� �& '�� �
��0  .Y� D��(�� f��

�.
�" %�@ )t(Li � )t(1i� �� ���� �)� d�c ��
 ��!A0.36)=0(Li�0��   .()M1/�D�?( (  

  
F �' N�0 ���& �� 
�. >��� �
 %�)t(Li��� �� @ 0>t� �����  .)M1/�D�?( (  
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I .' N�0 ���& ��
C�� k�� '� D����;� �� � ���. � O& N
U �� O& �; %��!� ���� ) .�D�?( (  

  

  

  

  

  

  

  

M .' N�0 ���& ��
��8& � �
 �123 VVV ,,C�� k�� '� D����;� �� ��  � N D�E U�!� ���� )  .�D�?( ( 
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